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log[Empfindlichkeit]
logLo = —0,35[y—Us70]?
l0gVo = ~0,35[1~Uss7]2
log [Lo, Oz Mal

NMata Oa u,=(A-550)/50

log[Séttigung] log
logLo = —0,35Li,~Us70]? log
logVo = —0,35[1,~Uss72 log
log [Lo/Vo, -/Vo, Ma/V] log
MaLa Oa

-0,350\—u: ]
—0,35[1)~Us.]2
=log -0,09
= logV,+0,26
Sattigung V

Adaptation
O&M: 595
+==9.1
~R
00=0,00 0a=-0,1¢
L0=-0,09 La=-0,18
Mo=-0,35 Ma=-0,18

495Ec  565EC

Adaptation
O&M: 595
t5=0.1

5451 1570 495Ec  565EC

600Ag/nm 700xc 400

log[Empfindlichkeit] log
logLo = —0,35[)~Us7d? log
logVo = —0,350)~Uss7]2 log

log [Lo, ', M4 log

MaLa Oa u,=(A-550)/50

500 600Ad/nm 700Ac 400

fgr70-2a
log[Séttigung] log
logLo = —0,35Li\~Us70]2 log - 12
logVo = —0,35[1~Uss72 log
log [Lo/Vo, ' /Vo, MaVq] logVi== log
MalLa Oa Sattigung V

2 :\ Adaptation

. O&M: 570
: A ~= ts=0.1

1 00=-0,08 0a=-0,
1 Lo=0,00 Lg=-0,2
I570 Mo=-0,09 Ma=-0,2
[}
' 1595 495Ec  565EC

[ Adaptation
O&M: 570
t=0.1

495Ec  565EC

600Ag/nm 700Ac 400

500 600Ag/nm 700x; 400

fgr70-4a

lin[Empfindlichkeit]
logLo = —0,35[)—Us70]?
l0gVo = ~0,35[1~Uss7]2
[L(), 3

1,0

MalLa'Oa

7Ty

u,=(A-550)/50
Adaptation

lin[Sattigung]
logLo = —0,35[1)\—U57o]2
logVo = —0,35[1)—Uss72

[L()/Vo, /VOv /VO]
Ma La Oa

=-0,35\~-u: ]

=-0,350,~us=:4?

=log -0,09

= logV,+0,26
Sattigung V

Adaptation
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570 495Ec

\
] Mq=0.45 Mg=0.64
1505 N o ——

565EC

O&M: 595
t=0.1

495Ec  565EC

)
lin[Empfindlichkeit]
logLo = —0,35[1~Usq]?
logVo = —0,350)~Uss7]2
[Lo, Os Mg

Maha Oa
1’0. _I/‘IT

600Ag/nm 700Ac 400

log ]
log —0,350)~Us.92
log- =log +0,09
logV2=logM-+0,09
u)=(A-550)/50

500 600Ad/nm 700Ac 400
fgr71-2a
lin[Sattigung] g
logLo = —0,35[1)\—U57o]2 log
logVo = -0,35[,-Uss]2  log
[Lo/Vo, ©:/Vo, Ma/Vo] log

Mala Oa Sattigung V

Adaptation

O&M: 570
570:t§0'1
00=0.82 03=0.95
Lo=1.0 La=0.95
MQ=0.82 Mg=0.95

495Ec  565EC

GERIET
O&M: 570

495Ec  565EC

600Ag/nm 700Ac 400

500 600Ag/nm 700x; 400

fgr71-4a

log[Empfindlichkeit]
logLo = —0,35[)~Us7q>
logVo = —0,35[J)\—U557]2

U=(A-550)/50

log[Sattigung]

logLo = =0,35[y~Us7d2

logVo = —0,35Li\~Uss7% =log (. +0,26

log [Lo/Vo, IV, Ma/Vo] = logM—0,09
MaLa Oa SEWI'AY

—0,350,-U. ]
-0,35[)~Us4:]2

Adaptation
O&M: 545
TO==0;35 Oa=-0,@
Lp=-0,09 Lg=-0,@
Mp=0,00 Ma=-0,@2

495Ec  565Ec

o Adaptation
: 0&M: 545
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595 495Ec  565EC

600Ad/nm 700Ac 400

log[Empfindlichkeit] =-0,35u\-u ]
logLo = —0,350\~Us7d? = ~0,35[~Us4]?
logVo = —0,35[)—Uss7]? =log ) +0,44
=logMo—0,26
Uy=(A-550)/50

600Ad/nm 700Ac 400

log[Sattigung] log= =-0,350\—u ]
logLo = -0,35l-Us7d?  logMo= =0,35[1~Us:q2
logVo = —0,35[i\—Uss7% log - = log . +0,44
log [Lo/Vo, ' /Vo, Ma/Vq] logM = logM-—0,26

G Sattigung V

Adaptation
O&M: 520

N
00=-0,79 0gq=-0,1¢
Co=-035Lg=-0,19
Mo=-0,09 Ma=-0,18
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Adaptation
0&M: 520
t=0.1
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600Ag/nm 700Ac 400
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lin[Empfindlichkeit]
logLo = —0,35[)~Us7q>
logVo = —0,35[)—Uss7]?
[Lo, Oa M4

Ma La Oa

—0,350,-Uu. ]
—0,35[)—Us.:)2
log log ' +0,26
'ogMz=logM¢—0,09
uy=(A-550)/50

log
log

lin[Sattigung] =-0,35)-u ]
logLo = ~0,35[1-Uszd? = —0,350 Uz
logVo = —0,35[i\—Uss7]% =log (. +0,26
[Lo/Vo, ' /Vo, MalV] = logV,—0,09
MaLa Oa Sattigung V

1,0

Adaptation

O&M: 545
545:t50.l
00p=0.45 0a=0.95
Lp=0.82 Lg=0.95
Mo=1.0

495Ec  565Ec

Ma=0.95

[ Auaptation
O&M: 545
t=0.1
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lin[Empfindlichkeit]
logLo = —0,35[)~Us7q>
logVo = —0,35[J)\—U557]2

[Lo, O Mg
GaNa

600Ad/nm 700Ac 400

log” =-0,35L)\-u ]

logM o= —0,350)~Us.:]?
log: =log  +0,44
logMa=logM-—-0,26

Oa u,=(A-550)/50

600Ad/nm 700Ac 400

lin[Sattigung] =-0,35)-u ]
logLo = -0,35l-Us7d?  logMo= =0,35[1~Us:2
logVo = —0,35Li\—Uss7% =log () +0,44
[Lo/Vo, /o, Ma/Vo] logVia= logVI,—-0,26
GaMa Oa Sattigung V
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Adaptation
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1 520:
1 \ 00=0.16 0a=0.64
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Adaptation
0O&M: 520
t=0.1

1
1

1 —

v

7 \\—.
1

1

1
545 1595 495Ec  565EC

500

fgr7l-7a

fgr71-7n

TUB-Prafvorlage fgr7; Empfindlichkeit LMO->L/V & O/V, lin[Schwellen]=0 & 0,10

600Ad/nm 700Ac 400

log & lin [Empfindlichkeit], LMS-R24, 4 Adaptationen: 595,570,545,520
Y

600Ad/nm 700Ac 400

fgr71-8a
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